ohe 2 ol Al B F izbile] w0 & Ak W]
el 2| o] Artel Bt vk A€ 47 P, Q o & ), PO 9

ZolE=? (&, AD = 3cm, BC = 4cm )

_-3cm-~ _
A/V\\D
P 0 Q
B¥- —IC
~~4cm--7
8 10 12
@ ﬁm @ 176<:m © —cm
@ —cm ® —em

AP : AB = PO : BC o|th.
AP:AB=3:70|B2
3:7=PO0:4

wed PO = = (cm) oI,




~9cm--~
® 7.lcm @)7.2cm ® 7.3cm
@ 7.4cm ® 7.5cm

~&B

AD//BC °©]E& AAOD 0 ACOB

.~ A0O:CO=AD:CB=6:9=2:3
AAEO @ AABC 0|22
AO:AC=EO:BC=2:5
EO:9=2:5.. EO = 3.6(cm)
ADOF ©2 ADBC o] B2
OF:BC=DO:DB=2:5
OF:9=2:5.. OF = 3.6(cm)

.. EF =EO + OF = 3.6 4 3.6 = 7.2(cm)




3. o2 1€914 AD//PQ//BC & o, PQ ©] Zol=?

. -10~~_

IRV
P Q

D 10.5 ® 11 (@)12 @ 12.5 ® 13

~&B

AC ¢ BD 9] 74-& R&t1L ot
AP:PB=2:3,AP: AB=PR:BC°|BE&2:5=PR:15

PR=6
JHAY AP: AB=PR:BC =DQ:DC =RQ:BCo|E&
RQ=PR=6

~PQ=12




4. 2 1994 AD //EF //BC ]2 AD = 8, BC = 24 < 1), EF 9|
Zol=(d, EF = AC¢ BD 9 w42 At}

og)
Q

D 6 @ 8 ® 10 ®)12 ® 16

E_:ix24:6,@:§1x8:6°]11}.

w2t EF = 12 o]t}

G:GC=8:24=1:3922
G




)

o3 13 Zo] AfthE]E ABCD 9] tiZHd el W F & A UAA
AD//EG//BC 7} 5| =5 A4 J0] 1 Altta|Eate] wd-g 7t

7}
E, G 27 514 AD — 15cm,BC = 3em & 1, —EC__ = 25
AD +BC
o},
_--1dem~ _ _
A ~D
B G
3cmC
> o
5
pal=g _
D 18

AF:FC=15:3°E2 EF = - x3 =25 cm

DF:FB=15:3°E2 FG = =-x3=25 cm

o or | ot

et EG =25+ 2.5 =5 cm©|th.
. _EG 5 5
“"AD+BC 15+3 18




6. OABCDO|A AD//BCo|T 2AF — BE , AD = Gem , BC = 15¢m
9w, NN 9] o2

A 6cm

(@)lcm @ 2cm @ 3cm @ 4cm ® 5cm

B ~

AE:AB=EN:BC=1:3°|2E21:3=EN:15.. EN=5
BE:BA=EM:AD=2:3°]222:3=EM:6 .. EM=
4

o MN =5-4=1(cm)




7.

th 133} o] AD//EF//BC §1 Altte]E ABCD |4 AE : EB =

2:1 ¢ o, MN ] Zo]=?

_-16cm-~ _

@SCIn @ 9cm ® 10cm @ 1lcm ® 12cm

~&B

i) ABEM, ABAD A /B = &%, /BEM = /BAD
wtalA ABEM 00 ABAD (AA SH2)
HJCHZEM:AD=BE:BAS EM:16=1:3
2 B = Dem

3

ii) AAEN, AABC oA /A &= &5, /AEN = /ABC
w2k AAEN 0 AABC (AA §2)

SOHZ AE:AB=EN:BC&©2:3=EN:20




8. o3 1% 9 mABCD |4 AD//EF//BC, AE: EB = 2 : 3 0|1,
AD = 6cm , BC = 15cm € W, PQ 2] Zo]&?

12 18 24
@) gcm @ —om ©) & om
@ Ecm ® 6cm

~&B \

AABC o4 AABCOAAEQ ©|E2 EQ:15=2:5, EQ =
6(cm)
AABD 9|4 AABDOAEBP ©|E2 EP : 6 =3:5, EP =
2 (em)
. 1 12
PQ:EQ—EP:6—€8:€(cm)




9. AD//BC ¢ Ath8]ZE ABCD ©lA A0OAD = 15cm? ¥ o}, AODC
o] GYo|& 5hH?

_-10em-~ _
A D
0)
B - — C
“~-l4cm--
@ 7cm? @ 10cm? ® 1l4cm?
@ 20cm? ®)21cm?

D ~
AODA @ AOBC 0|22
AO:OC=AD:BC=10:14=5:7

ut2kA AOAD : AODC =5:7

- AODC = 21cm?




